BHUOA

MONITOR, LAPTOP
& TABLET MOUNT

3000114 - Instruction Manual

© o)
° o
° °

Q. o

Rl 0818)



CONTENTS

Safety Instructions, 1

Components 2
Assembly 3- 1 O
Warranty 1 1




WARNING A

PLEASE READ THESE INSTRUCTIONS CAREFULLY, AND KEEP FOR FUTURE REFERENCE

Please read all instructions carefully
before use and retain for future
reference.

WARNING! Do not exceed the
maximum stated load capacity of
8kg/17.6lbs (monitor) 4.5kg/9.9lbs
(laptop). Installing appliances heavier
than recommended may result in
damage or serious injury.

Suitable for monitor screens up to 32
inches/10-15.6" laptop in size.
CAUTION: To ensure continued
safety, check the unit is secure and
safe to use at regular intervals (every
3 months) take appropriate action to
rectify any unstable or unsafe units.
Appropriate safety gear and
precautions must be taken when
installing this unit.

This unit is not a toy. Children should
not be allowed to play with the unit.
Children should be supervised at all
times around this unit.

This unit contains small parts and
components, which pose a choking
hazard to children and animals. Keep
these parts clear from children and
pets.

Ensure the supporting surface will
safely support the combined weight
of the equipment and all hardware
and supporting components before
installation. If unsure, contact a
qualified contractor for guidance.
Do not over tighten the mounting
Screws.

This unit is intended for indoor use
only.

If you do not understand these
directions, or have any doubts
regarding the safety of the
installation, please seek advice and
guidance from a qualified contractor.
Check the contents of the packaging
against this manual to ensure there
are no missing or defective parts.
Never use defective parts.

Improper installation may cause
damage or serious injury.

Install only as instructed within this
manual. Any deviation or short-cut
may lead to improper installation,
incorrect assembly or be considered
customer misuse.

SAFETY SYMBOLS:

Please follow the following safety
and guidance.

WARNING! Pay Read manual
attention to all before use
safety and
guidance

TOOLS REQUIRED (NOT
INCLUDED) :

Cross-Head Screwdriver

VonHaus.com



COMPONENTS

E (x2) F (x1

o (5 e

H (x1) 1 (x1) J (x1)

B

M (x2)

-

N (x5) O (x3)

o

G (x1)

Em

L (x4)

K (x1)

4mm (x1) 6mm (x1)

e

Mdx12 (x4) Md4x1 6 (x4)
M-A M-B

M5x1 6 (x4) D5 (x4)
M-D M-E

(o

M5x1 2 (x4)
M-C

i

M-F (x4)




ASSEMBLY

)

VonHaus.com



ASSEMBLY




ASSEMBLY

VonHaus.com



ASSEMBLY




ASSEMBLY

VonHaus.com



ASSEMBLY




ASSEMJLY \

VonHaus.com



ASSEMBLY

LK
»'h 80"«' »‘ 360 Y
o= : «sgi@” & +45°
. [ BC 360° )
D) Q. _45°
uuuuuuuuuuuu
288888858888
DDUD[EET:H:D
="

10



(ENC,
CUSTOMER SERVICES

If, for any reason you are experiencing difficulty using this product, please contact:
hello@domubrands.co.uk

DISPOSAL INFORMATION

Please recycle where facilities exist. Check with your local authority for recycling advice.

WARRANTY

To register your product and find out if you qualify for a free extended warranty, go to:

www.VonHaus.com/warranty
Please retain a proof of purchase receipt or statement as proof of the purchase date.

The warranty only applies if the product is used solely in the manner indicated in the
Warnings page of this manual, and all other instructions have been followed accurately.
Any abuse of the product or the manner in which it is used will invalidate the warranty.

Returned goods will not be accepted unless re-packaged in its original packaging and
accompanied by a relevant and completed returns form. This does not affect your
statutory rights.

No rights are given under this warranty to a person acquiring the unit second-hand or
for commercial or communal use.

COPYRIGHT

All material in this instruction manual are copyrighted by DOMU Brands Ltd.

Any unauthorised use may violate worldwide copyright, trademark, and other laws.




SOMMAIRE




ATTENTION A

D

VEUILLEZ LIRE ATTENTIVEMENT CES INSTRUCTIONS ET CONSERVEZ-LES POUR POUVOIR LES CONSULTER

A L'AVENIR

Veuillez lire attentivement ces
instructions avant utilisation et
conservez-les pour pouvoir les
consulter a I'avenir.

ATTENTION! Ne dépassez pas la
capacité de charge maximale indiquée
de 8kg / 17,6lb (moniteur) de 4.5kg/
9.9lb (ordinateur portable). L'installation
d'appareils plus lourds que ceux
recommandés peut entrainer des
dommages ou des blessures graves.
Convient pour les écrans de moniteur
jusqu'a 32 pouces / 10-15.6" de taille
d'ordinateur portable.

ATTENTION : pour assurer la sécurité,
vérifiez a intervalles réguliers que
['unité est stable et peut étre utilisée
sans risque (tous les 3 mois). Prenez
les mesures appropriées pour rectifier
les parties instables ou dangereuses
de I'unité. Lorsque vous installez cette
unité, portez de I'équipement de
sécurité approprié et prenez toutes les
précautions requises.

Ce produit n’est pas un jouet. Les
enfants ne devraient pas étre autorisés
a jouer avec l'unité. Lorsqu'ils se
trouvent autour de cette unité,

les enfants devraient toujours étre
supervisés.

Cette unité contient de petites

piéces et composants qui pourraient
présenter un danger pour les enfants
et les animaux. Tenez ces piéces hors
de portée des enfants et des animaux.
Vérifiez, avant installation, que la
surface porteuse soutiendra sans
probléme le poids combiné de
I'équipement, de tous les matériels. Si
vous ne comprenez pas ces directives,
ou si vous avez des doutes a propos

de la sécurité de l'installation,
veuillez demander conseil a un
entrepreneur qualifié. Vérifiez le
contenu de I'emballage vis-a-vis de
ce mode d’emploi pour vous assurer
qu’aucune piéce ne manque ou n’est
défectueuse.

N'utilisez jamais de pieces
défectueuses. Un montage incorrect
pourrait entrainer des dégats ou
causer de graves blessures.

Installez uniquement comme indiqué
dans ce mode d'emploi. Tout écart
ou raccourci pourrait conduire a une
installation incorrecte ou étre considérée
comme un emploi abusif de la part du
client.

SYMBOLES DE SECURITE :

Veuillez suivre les conseils de
sécurité et les directives suivantes.

ATTENTION ! Lisez le mode
Prétez attention d’emploi avant
a toutes les utilisation
sécurités et a
tous les conseils
OUTILS NECESSAIRES
(NON FOURNIS) :
o—<——
= 1 § ]
| S —

Tournevis cruciforme

VonHaus.com



R

H (x1) 1 (x1) L (x4)

Bm -

M (x2) N (x5)

6mm (x1)

fom  (mm  (Jm

M4x12 (x4) M4x1 6 (x4) M5x1 2 (x4)
M-A M-B M-C
M5x1 6 (x4 ) D5 (x4)
M-D M-E M-F (x4)




ASSEMBLAGE

)

VonHaus.com



ASSEMBLAGE




ASSEMBLAGE

VonHaus.com



ASSEMBLAGE

XF F




ASSEMBLAGE

VonHaus.com



ASSEMBLAGE




VonHaus.com



ASSEMBLAGE

Ve
»'h 80"«' »‘ 360y
P /3 - —«ég__[cj\‘;/aﬂ‘ +45°
. [ BC 360° )
) R —45°
uuuuuuuuuuuu
S88588888888
DDUD[EET:H:D
="

10



INFORMATIONS
RELATIVES AU RECYCLAGE

Veuillez recycler la ou il existe des installations adéquates. Vérifiez auprés de vos
autorités locales pour obtenir des conseils sur le recyclage.

SERVICES A LA CLIENTELE

Si vous avez des problémes avec votre produit et que vous avez besoin d'aide, veuillez
contacter hello@domu.co.uk

GARANTIE

Pour enregistrer votre produit et découvrir si vous vous qualifiez pour une extension
gratuite de garantie, rendez-vous sur :

www.VonHaus.com/warranty
Conservez une preuve d'achat, recu ou attestation, pour prouver la date de I'achat.

La garantie ne s'applique que si le produit a été utilisé de la maniere indiquée sur la
page des avertissements de ce manuel et que toutes les instructions ont été suivies
de maniere précise. Tous les abus réalisés sur le produit, dans la maniére dont il a été
utilisé, rendront la garantie caduque.

Les marchandises renvoyées ne seront acceptées que si elles sont remballées dans leur
emballage d’origine et accompagnées d'un formulaire de retour adéquat et rempli.
Ceci n'affecte pas vos droits statutaires.

Cette garantie n'accorde aucun droit a une personne obtenant le produit de seconde
main ou a des fins d'utilisation commerciale ou communale.

DROITS D'AUTEUR

Tous les matériaux de ce manuel de |'utilisateur sont protégés par droit d'auteur par
DOMU Brands Ltd.

Toute utilisation non autorisée pourrait enfreindre les lois mondiales de droit d'auteur,
de marque déposée ainsi que d'autres lois.




INHALT

Sicherheitshinweise 1

Komponenten 2
Zusammenbau 3- 1 O
Garantie 1 1




| DE _
WARNUNG A

LESEN SIE DIESE ANWEISUNGEN SORGFALTIG DURCH UND BEWAHREN SIE SIE FUR DIE ZUKUNFT

Bitte lesen Sie alle Anweisungen vor  Eine unsachgemaBe Installation

der Verwendung sorgféltig durch kann zu Schaden oder schweren
und bewahren Sie sie fir spatere Verletzungen fihren.

Bezugnahme auf. Installieren Sie nur gemaf den
WARNUNG! Uberschreiten Sie Anweisungen in diesem Handbuch.
nicht die maximal angegebene Jede Abweichung oder Kiirzung

Belastbarkeit von 8kg (Monitor)4.5kg kann zu unsachgemaBer Installation,
/9.9lbs (Laptop). Die Installation von  falscher Montage oder zu

Geraten, die schwerer als empfohlen  Verletzungen des Benuzters fihren.
sind, kann zu Schaden oder schweren
Verletzungen fihren.

Geeignet flr Bildschirme mit einer
GroBe von bis zu 32 Zoll / 10-15.6 Zoll
VORSICHT: Um die Sicherheit zu
gewahrleisten, Uberprifen Sie, ob das
Gerét in regelmaBigen Abstédnden

(alle 3 Monate) sicher in der
Verwendung ist, um instabile oder
unsichere Gerate zu reparieren. Bei

der Installation dieses Gerats miissen
geeignete Sicherheitsvorrichtungen

und VorsichtsmaBnahmen getroffen S!CHERHEITS'SYMBOLE:
werden. Bitte folgen Sie den folgenden
Diese Einheit ist kein Spielzeug. Sicherheits- und Richtlinien.

Kinder sollten nicht mit dem Geréat
spielen dirfen. Kinder sollten
jederzeit rund um dieses Geréat
beaufsichtigt werden.

Diese Einheit enthalt Kleinteile
und Komponenten, die eine WARNUNG! Lesen Sie das

. .. . Achten Sie auf Handbuch vor
Erstlckungsgefahr far Klr?der_ und alle Sicherheits- Gebrauch
Tiere darstellen. Wenn Sie diese und
Anweisungen nicht verstehen oder Orientierungshilfen

Zweifel hinsichtlich der Sicherheit
der Installation haben, wenden Sie

sich bitte an einen qualifizierten BENOTIGTE WERKZEUGE

Fachmann. Uberpriifen Sie den (NICHT INBEGRIFFEN):
Inhalt der Verpackung anhand dieser

Anleitung, um sicherzustellen, dass ~——
keine fehlenden oder defekten Teile = ==

vorhanden sind.

Verwenden Sie niemals defekte Teile. Kreuzschlitz-Schraubendreher

VonHaus.com



KOMPONENTEN

D (x2) E (x2) F (x1

v o (5

H (x1) 1 (x1) J (x1)

)
(e

K (x1)

B o e

M (x2) N (x5) O (x3)

4mm (x1)

G (x1)

Em

L (x4)

6mm (x1)

e

Mdx12 (x4) Md4x1 6 (x4)

M-A M-B

(o
M5x16 (x4) D5 (x4)
M-D M-E

(o

M5x1 2 (x4)
M-C

i

M-F (x4)




ZUSAMMENBAU

G—( %H

EO-SBmm

VonHaus.com



ZUSAMMENBAU




ZUSAMMENBAU

VonHaus.com



ZUSAMMENBAU

4 VE8alxE B //®




ZUSAMMENBAU

VonHaus.com



ZUSAMMENBAU




VonHaus.com



ZUSAMMENBAU

Ve
»'h 80"«' »‘ 360y
P /3 - —«ég__[cj\‘;/aﬂ‘ +45°
. [ BC 360° )
) R —45°
uuuuuuuuuuuu
S88588888888
DDUD[EET:H:D
="

10



| DE
ENTSORGUNGSINFORMATIONEN

Bitte recyceln Sie, wo Einrichtungen vorhanden sind. Erkundigen Sie sich bei lhrer
ortlichen Behérde nach Recycling-Empfehlungen.

KUNDENDIENST

Wenn Sie Schwierigkeiten bei der Verwendung dieses Produkts haben und
Unterstltzung ben&tigen, wenden Sie sich bitte an hello@domu.co.uk

GARANTIE

Um Ihr Produkt zu registrieren und um herauszufinden, ob Sie fir eine kostenlose
erweiterte Garantie berechtigt sind, gehen Sie auf:

www.VonHaus.com/garantie
Bitte bewahren Sie einen Kaufbeleg oder eine Bestatigung als Kaufbeleg auf.

Die Garantie gilt nur, wenn das Produkt ausschlieBlich in der auf der
Gebrauchsanweisung angegebenen Weise verwendet wird und alle anderen
Anweisungen genau befolgt wurden. Jeder Missbrauch des Produkts oder die Art und
Weise, in der es verwendet wird, macht die Garantie ungliltig.

Zurickgesandte Waren werden nicht angenommen, es sei denn, sie werden in der
Originalfarbbox wieder verpackt und von einem entsprechenden und ausgefillten
Rucksendeformular begleitet. Dies hat keinen Einfluss auf Ihre gesetzlichen Rechte.

Im Rahmen dieser Garantie werden keine Rechte an eine Person gewahrt, die das
Produkt aus zweiter Hand oder zu kommerziellen oder gemeinschaftlichen Zwecken
erwirbt.

COPYRIGHT

Das gesamte Material in diesem Benutzerhandbuch unterliegt dem Copyright von
DOMU Brands Ltd.

Jede nicht autorisierte Nutzung kann weltweite Urheberrechte, Markenrechte und
andere Gesetze verletzen.




CONTENIDO

Instrucciones de seguridad 1

Componentes 2
Montaje 3- 1 O
Garantia 1 1




ADVERTENCIA A

S

POR FAVOR LEA ESTAS INSTRUCCIONES CON ATENCION Y GUARDELAS PARA FUTURA REFERENCIA

Por favor lea cuidadosamente todas
las instrucciones antes de usar y
guérdelas para futura referencia.
iADVERTENCIA! No exceda la
capacidad de carga méaxima indicada
de8kg /17.6 lbs (monitor) 4.5kg/9.9lbs
(laptop). Instalar electrodomésticos
mas pesados de lo recomendado
puede provocar dafos o lesiones
graves.

Adecuado para pantallas de monitor
de hasta 32 pulgadas / 10-15.6" de
tamafo portatil.

PRECAUCION: Para garantizar la
continua seguridad, compruebe que
la unidad es segura y adecuada para
usar en intervalos regulares (cada 3
meses) y tomar la accidon adecuada
para rectificar cualquier unidad
inestable o insegura.

Se debe adoptar un equipo de
seguridad adecuado asi como
precauciones al instalar este equipo.
Este equipo no es un juguete. A los
nifios no se les deberia permitir jugar
con este equipo

Los ninos deberian ser supervisados
en todo momento cuando se
encuentren alrededor de este equipo.
Este equipo contiene piezas 'y
componentes pequefios que pueden
ser un peligro de asfixia para nifios

y animales. Mantenga estas piezas
alejadas de nifios y mascotas.
Asegurese de que la superficie de
soporte admita de forma segura el
peso combinado del equipo y todos
los componentes del hardware y
soporte antes de la instalacion.

Si no esta seguro, contacte con

un proveedor calificado para
asesoramiento.

No apriete demasiado los tornillos de
montaje. Este equipo esta disefiado
para uso solo en interiores.

Si no comprende estas instrucciones
o tiene alguna duda con respecto a la
seguridad de la instalacién, por favor
solicite asesoramiento y orientacién a
un proveedor calificado.

Verifique el contenido del embalaje
con el manual para asegurarse de que
no falten piezas o estén defectuosas.
Nunca utilice piezas defectuosas.
Una instalacién incorrecta puede
ocasionar lesiones y dafios graves.
Instalar solo como se indica en el
manual. Cualquier desvio o atajo
puede provocar una instalacién
incorrecta, un montaje incorrecto

o ser considerado un mal uso del
cliente.

SiMBOLOS DE SEGURIDAD:

Por favor, siga la siguiente
seguridad y orientacién

jADVERTENCIA!
Preste atencién a
toda la seguridad

y guia.

Leer manual
antes de usar.

HERRAMIENTAS NECESARIAS
(NO INCLUIDAS)

—<——
= X : ]

Destornillador de Estrella.

VonHaus.com



COMPONENTES

E (x2) F (x1

o (5 e

H (x1) 1 (x1) J (x1)

B

M (x2)

-

N (x5) O (x3)

o

G (x1)

Em

L (x4)

K (x1)

4mm (x1) 6mm (x1)

e

Mdx12 (x4) Md4x1 6 (x4)
M-A M-B

M5x1 6 (x4) D5 (x4)
M-D M-E

(o

M5x1 2 (x4)
M-C

i

M-F (x4)




MONTAJE

)

VonHaus.com



MONTAJE




MONTAJE

VonHaus.com



MONTAJE




MONTAJE

VonHaus.com



MONTAJE




MONTAKE '\

VonHaus.com



MONTAJE

Ve
»'h 80"«' »‘ 360y
P /3 - —«ég__[cj\‘;/aﬂ‘ +45°
. [ BC 360° )
) R —45°
uuuuuuuuuuuu
S88588888888
DDUD[EET:H:D
="

10



S
INFORMACION DE DESECHO

Por favor, recicle en las instalaciones correspondientes. Consulte con su autoridad local
para obtener consejos de reciclaje.

SERVICIO AL CLIENTE

Si tiene dificultades para usar este producto y necesita asistencia, contactese con
hello@domu.co.uk

GARANTIA

Para registrar su producto y averiguar si califica para una garantia extendida gratuita,
vaya a:

www.VonHaus.com/warranty

Conserve un comprobante de recibo de compra o extracto como prueba de la fecha
de compra.

La garantia solo se aplica si el producto se utiliza Gnicamente de la manera indicada
en la pagina de Advertencias de este, y todas las demas instrucciones se han seguido
con precision. Cualquier abuso del producto o la manera en que se use invalidara la
garantia.

Los productos devueltos no se aceptardn a menos que se vuelvan a empaquetar en
su embalaje original y acompanados por un formulario de devolucién completo y
pertinente. Esto no afecta sus derechos legales.

No se otorgan derechos bajo esta garantia a una persona que adquiere el producto de
segunda mano o para uso comercial o comunal.

DERECHOS DE AUTOR

Todo el material de esta Guia del usuario esta protegido por derechos de autor por
DOMU Brands Ltd.

Cualquier uso no autorizado puede violar los derechos de autor, marcas comerciales y
otras leyes en todo el mundo.




INDICE

Istruzioni di sicurezza 1

Componenti 2
Montaggio 3- 1 O
Garanzia 1 1




ATTENZIONE A

S| PREGA DI LEGGERE ATTENTAMENTE QUESTE ISTRUZIONI E CONSERVARLE PER UNA FUTURA

CONSULTAZIONE.

Si prega di leggere attentamente
queste istruzioni prima dell’uso

e conservarle per una futura
consultazione.

AVVERTIMENTO! Non superare la
capacita massima di carico dichiarata
di 8 kg / 17,6 libbre (monitor) 4.5 kg
/ 9.9 libbre (laptop). L'installazione
di apparecchi piu pesanti di quanto
raccomandato puo causare danni o
lesioni gravi.

Adatto per schermi di monitor fino

a 32 pollici / 10-15.6" di dimensioni
laptop.

AVVERTENZA: Per garantire

una sicurezza continua, verificare
regolarmente (ogni 3 mesi) la
sicurezza del prodotto. Apportare le
opportune modifiche per rettificare
qualsiasi parte non sicura o non
stabile.

Durante l'installazione del prodotto,
prendere le giuste precauzioni e
utilizzare gli idonei dispositivi di
sicurezza.

Questo prodotto non & un
giocattolo. | bambini devono essere
supervisionati per evitare che
giochino con il prodotto.

| bambini vicini al prodotto devono
sempre essere supervisionati.
Questa unita contiene piccole parti e
componenti pericolose per bambini e
animali. Tenere queste parti lontane
dai bambini e dagli animali domestici.
Prima del montaggio, accertarsi che
la superficie di supporto supporti
con sicurezza il peso combinato
dell’attrezzatura, di tutte le viti e

dei componenti di supporto. In

caso di dubbi, contattare un tecnico
qualificato.

Non stringere troppo le viti.

Questo prodotto e destinato
esclusivamente a un uso interno.

In caso di non comprensione di
queste istruzioni, o in caso di dubbi
relativi alla sicurezza dell’installazione,
richiedere una consulenza qualificata.
Verificare il contenuto della
confezione rispetto a quanto riportato
sul presente manuale per evitare parti
mancanti o difettose. Non utilizzare
mai parti difettose.

Un montaggio non adeguato puo
causare danni o gravi lesioni.
Montare solo come indicato nel
presente manuale dell’'utente.
Qualsiasi variazioni puo portare a

un montaggio non corretto o essere
considerato un uso improprio da
parte del cliente.

SIMBOLI DI SICUREZZA
Si prega di seguire le seguenti
norme di sicurezza e guide.

ATTENZIONE Leggere il
Prestare manuale prima
attenzione a dell’'uso
tutte le norme
sulla sicurezza e
alle guide.
ATTREZZI RICHIESTI
(NON INCLUSI):
o—<——
= X b
| S —)

Cacciavite a croce

VonHaus.com



COMPONENTI

E (x2) F (x1

o (5 e

H (x1) 1 (x1) J (x1)

B

M (x2)

-

N (x5) O (x3)

o

G (x1)

Em

L (x4)

K (x1)

4mm (x1) 6mm (x1)

e

Mdx12 (x4) Md4x1 6 (x4)
M-A M-B

M5x1 6 (x4) D5 (x4)
M-D M-E

(o

M5x1 2 (x4)
M-C

i

M-F (x4)




MONTAGGIO

)

VonHaus.com



MONTAGGIO




MONTAGGIO

VonHaus.com



MONTAGGIO




MONTAGGIO

VonHaus.com



MONTAGGIO




VonHaus.com



MONTAGGIO

Ve
»'h 80"«' »‘ 360y
P /3 - —«ég__[cj\‘;/aﬂ‘ +45°
. [ BC 360° )
) R —45°
uuuuuuuuuuuu
S88588888888
DDUD[EET:H:D
="

10



T
INFORMAZIONI SULLO SMALTIMENTO

Si prega di riciclare nelle apposite strutture. Chiedere una consulenza alle autorita
competenti per il riciclo.

SERVIZIO CLIENTI

Per qualsiasi difficolta nell’utilizzo del presente prodotto e per richiedere assistenza,
contattare hello@domu.co.uk

GARANZIA

Per registrare il prodotto e capire se hai diritto all’estensione di garanzia, vai su
www.VonHaus.com/warranty
Si prega di conservare la ricevuta del pagamento quale prova della data d’acquisto.

La garanzia si applica solo se il prodotto viene utilizzato esclusivamente come indicato
nella pagina delle Avvertenze della presente Guida per I'utente e se tutte le altre
informazioni vengano accuratamente seguite. Qualsiasi abuso nellutilizzo di questo
prodotto invalidera la garanzia.

| resi non saranno accettati se non riposti nella confezione originale ed accompagnati
da un modulo di reso completo. Cid non pregiudica i propri diritti obbligatori.

La presente garanzia non attribuisce alcun diritto a coloro che acquistano prodotti di
seconda mano o per fini commerciali o condivisi.

COPYRIGHT

Tutto il materiale contenuto nella presente Guida per la cura & protetto da copyright di
DOMU Brands.

Qualsiasi uso non autorizzato potrebbe violare il copyright a livello mondiale, marchio
ed altre leggi.

VonHaus.com



USER NOTES




USER NOTES




VonHaus is a registered trademark of DOMU Brands Ltd
Made in China for DOMU Brands Ltd M24 2RW.

W02'SNEHUOA




